4.4 Proof of the master theorem
- Not the fill proof: only the intrition
$$\begin{bmatrix} Notes: \\ Motes: \\ Haster Theorem: \\ \hline Haster Theorem: \\ \hline C(n) = O(n \log_{b} - \epsilon) pT(n) = O(n \log_{b} - \epsilon) pT$$

$$T(n) = c T\left(\frac{n}{b}\right) + f(n)$$
under the assumption that n is an exact power of b>1
where b need not to be an integer
Analysis is broken into three lemmas:

Fist lemma: reduces the problem of educing the mater

recurrence to the problem of evaluating an

Second lemma: Setermines bounds on this commution. <u>Second lemma</u>: Setermines bounds on this commution <u>Third lemma</u>: puts the first two together to prove a version of the master theorem for the case on which n is an exact power of b. $\frac{\text{Lemma 4.2}}{\text{-Let a } 31 \text{ and } b>1 \text{ be constants, and let find be a nonnegative function defined on exact powers of b.$ - Define T(n) on exact powers of b by the recurrence: $<math display="block">T(n) = \begin{cases} \Theta(1) & \text{if } n=1 \\ aT(n) + f(n) & \text{if } n=b^{2}, & \text{VieW}^{+} \end{cases}$ $= Then T(n) = \Theta(n^{\log_{\Theta}}) + \frac{1}{2} = a^{2}f(\frac{n}{5}) = 0$



vestion: What is the cost per level? $\left(\text{evel}\ 0: \quad \text{fcn}\right) = a^{0} \cdot \left(\frac{n}{b^{0}}\right)$ level 1: a 4/ m) level 2: 52 F[m]



4

$$ave 1$$
. If $f(n) = O(n^{\log_{1} n} - \varepsilon)$ for some constant $\varepsilon > 0$
then $g(n) = O(n^{\log_{1} n})$
 $cove 2$. If $f(n) = O(n^{\log_{1} n})$ then $g(n) = O(n^{\log_{1} n} \log n)$
 $cove 3$. If $af(\frac{n}{6}) \leq cf(n)$ for some constant $c \leq 1$ and
for all $n \geq 6$ then $g(n) = O(f(n))$

.

$$-\epsilon(n) = .0(n^{\log_{n}} - \epsilon) = \epsilon(\frac{n}{b^{3}}) = 0(\frac{n}{b^{3}})^{\log_{n}} - \epsilon)$$

- Substituting into Equation 4.7 yields:

$$g(n) = \sum_{i=0}^{log_n-1} a^i f(\frac{n}{b^i}) = \frac{1}{2} \sum_{i=0}^{log_n-1} O((\frac{n}{b^i})^{log_n-2})$$



- Since
$$\underline{b}$$
 and $\underline{\varepsilon}$ are constants we can rewrite the
last expression as:
 $n \frac{b_{5}}{b_{5}}a - \varepsilon \left(\frac{n\varepsilon_{-1}}{(b\varepsilon_{-1})}\right) = n \frac{b_{5}}{b_{5}}a - \varepsilon O\left(n\varepsilon\right) = O\left(n\frac{b_{5}}{b_{5}}a\right)$
- Substituting this expression into:
 $g(n) = O\left(\frac{b_{5}}{b_{5}}a - \varepsilon\right) \left(\frac{b_{5}}{b_{5}}a - \varepsilon\right)$
 $= O\left(n\frac{b_{5}}{b_{5}}a\right)$
 $= O\left(n\frac{b_{5}}{b_{5}}a\right)$
 $= O\left(n\frac{b_{5}}{b_{5}}a\right)$

Proof of case 2: • Under the accomption that $f(n) \in \Theta(n^{\log_3 n})$ we have that: $f(n) = \Theta(n^{\log_3 n}) = pf(\frac{n}{b^3}) = \Theta((\frac{n}{b^3})^{\log_3 n})$ Substituting into Equation 4.7 yields: $J_{los, n-1}$ $g(n) = Z \quad a^{j} f(n) = Z \quad a^{j} = \Theta(\left\lfloor \frac{n}{3^{j}} \right\rfloor^{los, a})$

- We bound the summation within Q as in case 1, but this time we do not obtain a geometric arrives .

- Instead we discover that every term of the summation is the







$$\frac{Proof of case 3:}{g(n) = Z} = q^{j} f\left(\frac{n}{b^{j}}\right) \quad (Expression 4.7)$$

$$\int_{J=0}^{b_{2b}n-1} g\left(\frac{1}{b^{j}}\right) \quad (Expression 4.7)$$

$$\int_{J=0}^{Since:} f(n) \quad appearse in the definition of g(n) = f(f(n))$$

$$= f(n) \quad appearse in the definition of g(n) = f(f(n))$$

• III TEEMS OF SUI are normedance I for exact powers of 3

Under our assumption that:

$$G f(n) \leq C f(n)$$
 for some constant $C \geq 1$
and all $n \geq b$

*

$$4=7f(n) \leq \frac{2}{5}f(n)$$

Iterating j times:
$$f\left(\frac{n}{b^{j}}\right) \leq \left(\frac{c}{a}\right)^{j} f\left(n\right) \approx a^{j} f\left[\frac{n}{b^{j}}\right] \leq c f(n)$$

From a different generatives
 $a f\left(\frac{n}{b}\right) \leq c f(n)$ Iterate j times, i.e. draw a
recursion tree of depth level j
 $a^{j} f\left(\frac{n}{b^{j}}\right) \leq c f\left(\frac{n}{a^{j}}\right) \approx a^{j} f\left(\frac{n}{b^{j}}\right) \leq c^{j} f(n) = j$
 $a \in \left(\frac{n}{b^{j}}\right) \leq c \in \left(\frac{n}{a^{j}}\right) \approx a^{j} f\left(\frac{n}{b^{j}}\right) \leq c^{j} f(n) = j$
 $a \in \left(\frac{n}{b^{j}}\right) \leq \left(\frac{c}{a}\right)^{j} f(n)$



Substituting into Equation 4.7 yields: $\int_{0}^{10} \frac{1}{5} = \sum_{j=0}^{10} a^{j} f\left(\frac{n}{5^{j}}\right) \leq \sum_{j=0}^{10} j=0$ $M_{M} = (n) \sum_{j=0}^{\log_0 n-1} c^j \leq (n) \sum_{j=0}^{\infty} c^j$ Geometric certer:

$$= f(n)\left(\frac{1}{1-C}\right) = \bigoplus(f(n)), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \bigoplus(n)\left(\frac{1}{1-C}\right) = \bigoplus(f(n)), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \bigoplus(n) = \bigoplus(n) = \bigoplus(n), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \inf(n) = \bigoplus(n) = \bigoplus(n), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \inf(n) = \bigoplus(n) = \bigoplus(n), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \inf(n) = \bigoplus(n) = \bigoplus(n), \qquad \sum_{h=0}^{\infty} w_{h=\frac{1}{3-U}}, \quad if |u| < 1$$

$$= \inf(n) = \bigoplus(n) =$$

for the case "which n is an exact power of b . Lemma 4.4 - Let a 7.1 and b > 1 be constants, and let for) be a nonnegative function defined on exact powers of b. Define T(n) on exact powers of b by the recurrence: $T(n) = \left(\Theta(a) \right)$) if n = 1



Then
$$\underline{T(n)}$$
 can be bounded asymptotically for exact powers
of \underline{b} as follows:
1. If $f(n) = O(n^{\log_{b} n} - \varepsilon)$ for some contant $\varepsilon > 0$, $\overline{T(n)} = O(n^{\log_{b} n})$
2. If $f(n) = O(n^{\log_{b} n})$ then $T(n) \cdot O(n^{\log_{b} n} \log n)$
3. If $f(n) = O(n^{\log_{b} n+\varepsilon})$ then $T(n) \cdot O(n^{\log_{b} n} \log n)$
3. If $f(n) = O(n^{\log_{b} n+\varepsilon})$ then for some constant $\varepsilon > 0$ and
if $a \cdot f(\frac{n}{b}) \le c \cdot f(n)$ for come constant $c \cdot d$ and all
sufficiently larse \underline{n} then $T(n) = O(f(n))$
Proof:
- We use the bounds on Lemma 4.3 to evaluate the
summation 4.6 from Lemma 4.2
- Case 1: $T(n) = O(n^{\log_{b} n}) + \sum_{i=0}^{\log_{b} n-i} a^{i} \cdot f(\frac{n}{b})$ [Summation 4.6
 $G(n^{\log_{b} n}) + O(n^{\log_{b} n})$ [Summation 4.3]
 $= O(n^{\log_{b} n}) + O(n^{\log_{b} n})$



$$-\frac{(a \cdot e \cdot 2)}{T(n) = \Theta(n^{\log_{0} \alpha}) + Z} = \frac{\log_{0} n - 1}{j = 0} \int \left[\frac{Summation 4.6}{from Lemma 4.2} \right]$$
$$= \Theta(n^{\log_{0} \alpha}) + \Theta(n^{\log_{0} \alpha} \log n) \left[\frac{bound from}{Lemma 4.3} \right]$$
$$= \Theta(n^{\log_{0} \alpha}) + \Theta(n^{\log_{0} \alpha} \log n) \left[\frac{Lemma 4.3}{Lemma 4.3} \right]$$
$$= \Theta(n^{\log_{0} \alpha} \log n) \left(\frac{breatest supression of the two}{u + en n - e \infty} \right)$$

$$-\frac{(\csc 3)}{T(n)} = O(n^{\log_{0}a}) + \sum_{j=0}^{\log_{0}n-3} a^{j} f(\frac{n}{6j}) \left[\begin{array}{c} \text{Summetion 4.6} \\ \text{from Lemme 4.2} \end{array} \right]$$
$$= O(n^{\log_{0}a}) + O(f(n)) & \left[\begin{array}{c} \text{Summetion 4.6} \\ \text{from Lemme 4.2} \end{array} \right]$$
$$= O(f(n)) & \left[\begin{array}{c} \log_{0}a \\ \text{Lemma 4.3} \end{array} \right]$$
$$= O(f(n)) & \left[\begin{array}{c} \log_{0}a \\ \text{Lemma 4.3} \end{array} \right]$$

When n tends to infinity:

- because f(n) is \$\Omega(n^{log_{b}(a + \epsilon))\$, i.e. \$f(n)\$ is at least n^{log_{b}{a + \epsilon}}
- we will have two expressions:
 - \$\Theta(n^{\log_{b}{a}})\$ and...
 - \$\Omega(n^{log_{b}{a + \epsilon}})\$
- Notice that \$n^{log_{b}{a + \epsilon}}\$ dominates over \$n^{\log_{b}{a}}\$ when n tends to infinity.

- This means that overall complexity is \$\Theta(f(n))\$









(1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1) (1)Cost per level: Attantion: level Q: Fin) We are only focusing on level 1: afing) upper bounding the level 2: affinz) teuverence



- As we go down in the recursion tree, we obtain a sequence of recursive invocations on the arguments:





-Let a denote the jth element on the sequence by 2j-where.

$$nj = \begin{cases} n & i & \text{if } j=0 \\ (\text{recursive definition}) \\ (\overline{n_{j-3}}|_{J}^{-1}, \text{if } j>0) \end{cases}$$
- Our first goal : determine the depth to such that
Why ? I be a constant
Remember : In a recurrence equation there will always
be a base case that is applied when
n = some constant
- Using the inequality [U] 5 U + 1 we obtain:

the second se

 $n_0 \leq n$ $n_1 \leq \lceil n_0 \rceil \leq in_{i-1}$ $n_2 \leq [\frac{n_1}{5}] \leq \frac{1}{5} \leq \frac{1}$ $n_3 \leq \left\lceil \frac{n_2}{b} \right\rceil \leq \left\lceil \frac{n_1}{b^2} + \frac{1}{b^4} + 1 \right\rceil \leq \left\lceil \frac{n_1}{b^3} + \frac{1}{b^2} + \frac{1}{b} + 1 \right\rceil$





Lets say that the tree height is Llog n] then: n_{Lloss} $n + \frac{b}{b-4} \leq \frac{n}{b} + \frac{b}{b-4} = \frac{b}{b} \leq \frac{n}{b-4} + \frac{b}{b-4} = \frac{b}{b} =$ $= \frac{n}{b^{10}b^{2}, b^{-1}} + \frac{b}{b^{-1}} = \frac{n}{1, b^{2-1}} + \frac{b}{b^{-1}} = \frac{1}{1, b^{2-1}} + \frac{b}{b^{-1}} = \frac{1}{1, b^{2-1}} + \frac{b}{b^{2-1}} = \frac{1}{1$





- We are now able to calculate the total cost:

 $T(n) = \Theta(n^{\log n}) + Z_{j=0}^{L\log n^{j}-1} + j = 0$ number of leafs everything else

We have already ceen this equation when we were doing the proof for exact powers

- However, in this case we are not relatively to an. exact power of b.

- Therefore we can follow the same procedure of Lemma 4.3

